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RD ook (SH30F, AfkdsF, Bik13 108, C#247)
(1)  3kg= g (2)  0.58 g= mg
(3) 5400 g= kg (4) 4000 mg= g
(5)  0.05 kg= g (6) 42500 g= kg
(7) 10.25 g= mg (8) 30 mg= g
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RD DK (SH30W, Afkas ., BI15 108, C#247)

(1) 0.2 kg= g (2)  0.108 g= mg
(3) 500 g= kg (4) 7200 mg= g
(5)  0.15 kg= g (6) 88500 g= kg
(1) 40.05 g= mg (8) 60 mg= g
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RD ZHrDX. (SH30F, AfkasF, B 13107, C#&24))

* EXIQEAM  EHIZ 1000 5T o509 .
kg (X077 5)[g(/74) | mg (32U 74|

1 1000
1 1000

(1) 3 kg= g (2)  0.58 g= mg
3 x 1000 = 3000 0.58 x 1000 = 580

(3) 5400 g= kg (4) 4000 mg= g
5400 + 1000 = 5.4 4000 + 1000 = 4

(5)  0.05 kg= g (6) 42500 g= kg
0.05 x 1000 = 50 42500 = 1000 = 42.5

(7) 10.25 g= mg (8) 30 mg= g
10.25 x 1000 = 10250 30 = 1000 = 0.03
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RD DK (SH30W, Afkas ., BI15 108, C#247)

(1) 0.2keg= g (2)  0.108 g= mg
0.2 x 1000 = 200 0.108 x 1000 = 108

(3) 500 g= kg (4) 7200 mg= g
500 < 1000 = 0.5 7200 = 1000 = 7.2

(5)  0.15 kg= g (6) 88500 g= kg
0.15 x 1000 = 150 88500 + 1000 = 88.5

(7)  40.05 g= mg (8) 60 mg= g
40.05 x 1000 = 40050 60 = 1000 = 0.06
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